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QUESTION 1

RESTful Web services have an interface of well-known standard operations, and all services are accessed through this
interface. What are the four standard operations available for RESTful Web services? (Choose four.)

A. GET

B. CONNECT
C. PUT

D. SUBMIT
E. POST

F. HEAD

G. DELETE

Correct Answer: ACEG

QUESTION 2

Which two statements are true about creating a Web service with JAX-WS? (Choose two.)
A. Stateless Web services must be created with HTTP servlet endpoints.

B. Creating the portable artifacts by hand is slow, but makes a service easier to maintain.
C. All Java-based endpoints share a common packaging model.

D. EJBs can serve as endpoints if hosted in a container with runtime and service support.
E. JAX-WS supports creating services from source and compiled code without a WSDL.

Correct Answer: DE

QUESTION 3

An engineer is studying the architecture of the JAXB implementation. What are three components in its design?
(Choose three.)

A. schema compiler
B. built-in SAX parser
C. schema generator
D. built-in DOM parser

E. binding runtime framework
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F. schema interpretor

Correct Answer: ACE

QUESTION 4

Which three techniques can be used to apply XML Digital Signatures to an XML document? (Choose three.)
A. use detached signatures, where the digital signature covers sibling elements or external data

B. use enveloping signatures, where the digital signature element encloses the data to be signed

C. use enveloping signatures, where the digital signature is a child element of the data to be signed

D. use enveloped signatures, where the digital signature is a child element of the data to be signed

E. use enveloping signatures, where the digital signature element is a child element of the data to be signed

Correct Answer. ABD

QUESTION 5

What are three best practices that can be implemented when generating WS-I Basic Profile compliant Web services?
(Choose three.)

A. send arrays of nulls to ensure .NET and Java clients receive the same data
B. define data types early in the integration cycle

C. use complex data types to reduce the number of items exchanged

D. test interoperability at every stage of development

E. insert conformance headers in all SOAP messages

F. keep data types simple for speed and stability

Correct Answer: BDF
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